BT TRIA O - HEHHEE X T 3Fﬁ£5€¢07ﬁ KIRHE
+H- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,403 86,970 41512 45458
RIRET1T 5 13 6 7
RIRET2T 27 57 27 30
RIRET3T 176 584 287 297
RIRET4T 386 974 480 494
B 594 1,628 800 828
REH 2,664 6,188 2,905 3,283
L&A 4,227 9,569 4518 5,051
5E 2,557 6,037 2,942 3,095
B AN 1,262 2,881 1,341 1,540
BERT 1,228 1,899 893 1,006
BER2T 678 1,317 635 682
BHERST 393 894 439 455
g 2,299 4110 1,967 2,143
BARE 254 648 327 321
= 2,181 5,234 2,472 2,762
hERE 626 1,466 670 796
e 2,388 5211 2,504 2,707
25 L ET 2,236 5,123 2,455 2,668
B &AL BT 80 170 68 102
HEFILET1T 569 1,238 584 654
HEFILET2T 619 1,376 649 727
HEZFILAT3T 606 1,426 700 726
g 1,874 4210 2,001 2,209
B & it B Fr ET 688 1,668 804 864
BHEREBET1T 614 1,255 595 660
BHERERET2T 760 1,762 860 902
BHERERETST 770 1,671 759 912
HERERET4T 454 988 481 507
HEHFMHETST 817 1,688 799 889
HEHFHET6T 874 2,013 962 1,051
HEFRET7T 844 1,885 905 980
HERERETST 70 213 100 113
£t| 5203 11475 5,461 6,014
HEF R FET 1,830 3,969 1,937 2,032
S|EFET1T 569 1,522 760 762
S|EFET2T 71 1,842 875 967
S|EFET3 T 708 1,415 663 752
g 2,048 4,779 2,298 2,481
ERE1T 563 1,342 642 700
EIRET2T 389 1,027 514 513
EREIST 466 1,314 636 678
EIRETAT 698 1,544 705 839
EIZEIST 477 989 503 486
g 2,593 6,216 3,000 3,216
MEH 2,764 6,331 3,006 3,325
J\THET1T 33 37 14 23
J\THET2T 25 63 30 33
J\THEI3T 57 127 60 67
B 115 227 104 123
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